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MATHEMATICS
By Pradeep Sir
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MATHEMATICS By Pradeep Sir

4 27
Q. 2) lfx—-—6x¢0thenthevalueof - i X
" 27 xXé=3x-3
qﬁx—-—Gx;tO%?ﬂ Z_ BT {4 J1d ST
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MATHEMATICS By Pradeep Sir

Q. 3) If x® —1442x* + 1 = 0, then a possible value of x —
1

-is:

gfe x8 — 1442x* +1 = o%a’u-%mw'mﬁam%-
(A) 5" a

(B) 8

O 4
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| { x -33+|g-6;+l
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Q. 4) If x* —12x + 33 = 0 then what is the value of (x —

1
4)% + —

gfe x2 — 12x+33 = 0%?ﬁ(x—4)2+(134)2351ﬂﬂm
aRTER B 2 .

A)16+2~ | & x5+ L ?
P x*
5 4 = — 20

2
L = -23 —
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MATHCMATICS By Pradeep Sir
(V3+V2)+(¥3-v2) | (V3+V2)=(V3-V2)
‘e[,az+®:_j Q. 5) |f(—m+m 6\/1_’thenfind
2 " the value of ' P’
P —@® 7 + o O <
(V3+V2)+(V3-v2) | (V3+V2)-(¥3-v2) _ 5 —_—
=\ VR (V3+V2)=(V3-V2) = (V3+V2)+(V3-V2) 6 VP % ?ﬁwm

o?(@s.ura.) “H(Im-T) J
LF; T = (T3- Fz—)

74_2, A ;/-FLYL

o X ‘E'SP
/%I’;,

v @R ©

(A) 3
(B) 4

P + &




MATHCMATICS

Py . P-° Q. 6) |f“J;’—_l+:g=4sz then find the value of ' x°
[°-® r if x> 0.
P 4+ @ P~
5 Prrad) uﬁijvfﬁ__l ::g—mz%ah x * BT I JTd DY (
lo?:-CDL Uﬁx>0)l 4+
TV e,y AN
w( xF L XD _ 82 (B) -11
ZX — 57 4 (€) 13
(D) 15
a?zl_, - oh)
Lx2z-Ruz- Z_ |2
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MATHI MATICS By Pradeep Sir
(P @ (" o
Q. 7) iy AR EEHDE1  BRE-1_ 400 shen find the

(B) 4
(C)5
(D)6

x3/2- \fx-"

324/ x¥3 -1

value of " x ifa’i X mﬁwmaﬁﬁm




MATHCMATICS L A i

'
Q. 8) 1f7 afe =2 YIS, VINS .. vx then find the value of " x°

Vs Vi+vs
galx ﬂmmaﬂml
(A) 35
(B) 70
(C) 105




MATHEMATICS By Pradeep Sir

'.:
\/S\/-(@ V7-v3
74+V3 7=v3

Q. 9) If/ﬂﬁ a=T_—\/_; andléﬁ‘\' b=7-7+—\/-—5 then find the

2 2 2 2
a“+ab+b a“+ab+b
value Ofm.%?ﬁmmmmml

(HETE
(C) 9/8
(D) None




MATHCMATICS

By Pradeep Sir

L:}:{g C:c-‘ )
(1—19/ (x+%)
3 (S

(D)

A)
©.=
(D) None

Q. 10) f x+1/x=3 then find the value of [(Jr

qﬁx-&-l/x S?i‘ﬁ[

+1/x)

-I/x)l +
(x+1/x)
(x=1/x)

+ (522) o g




MATHEMATICS By Pradeep Sir

Q. 11) if EH0 10 _ 4 then find the value of x® + —.

(x-1/x) (x+1/x)
F —~ —Q (f’ ~ (0

gfe &1/0) @1/ _ 4 Bt »8 +5imm=tsnaaﬂﬁm

(x-1/x) (x+1/x)

(W= ™

(B) 194
(C) 623

x8
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Q 12) f S BT o 2
Qz 7,}2 Sy + 57 7 ——2 then find the value of

3x+y
3x-y
qf £ e/z-yz/(z' 18 £
xa,z-yzlz /z +y3/z 2 % a 3x+y BT
= 0 J1d Sife|

JL@)La




MATHCMATICS

VZ+1
NG

QI1PDEx=

2x243xy+2y2
2x2-3xy+2y*%

2x2-3xy+2y*
Q=22 )43xy
(C) 81/65

(D) 3 —2V2 ,‘(Z(xJ-j) "\i33 54

By Pradeep Sir

and xy = 1 then find the value of

afd x = 2 3R xy = 1%mmmmmml




MATHECMATICS By Pradeep Sir

Q14 ifx= \/_-i-\/_thenfindthevalueofj'r—“4-—1

x+1
afex=V3+V2¢% f‘-f—‘+—$rm3rraaﬂm|
(A) 2
(B) V6
(C) —V6

&
=




MATHCMATICS

By Pradeep Sir

) VA+Z\S  [(V3-VZ
Q. 15) Find the value of ( @-9 + ( P

V342 o V3-2 .

(523) +(503) ®ram @ A
(A) 1030

(B) 990

C) 940
(D) 970

).




MATHECMATICS By Pradeep Sir

g+;1r6;+l}'f:‘x = 3 + 2v/2 and xy = 1 then find the value of
x2-Sxy+y?’

U x = 3 +2V2 R xy = 1 ALY 1 HE §

x2-Sxy+y?

PIfIg| L )

(A) —

(C) —
(D) None

~ 2 e
(X+8)7- 3xcy(x+38)+3xY

[+4Y°= 2 xy -5'15

b —3XI%64+3 Aol
—_— )
3L - 3-5 adl




MATHCMATICS By Pradeep Sir

o ( P+ %)
2
\

m

P

Q. 17) Find the value of

sin0+cose+sin8—c050'( in? g 2 )
sinf —cosf siné +cosb -~ o

/"’ ~0 (P (G

of C Nm CD+C9$ZQ) é M") [::: ?Ez:z ::: g:z: gl (sinZ 6 — cos? 0) BT HI FTd DifeIC|

R AT L lo

(C)3
(D) 4




MATHCMATICS By Pradeep Sir

V3+x+y3-x V3+x=y3-x

e T then find the value of

Q. 18) If
2x
—+5
3 F F
( rQ 1)
S

'Qﬁ V34x+V3-x V3+x- 2y
V34x-V3-x  V3+x+V3-x ‘ % m 3 +5 @I HIH JAld

mllp ch Lp Lo

(
- 2”% +S '@A—w




MATH MATICS By Pradeep Sir
VX+14vx=1 Vx+1-Vx-1
Q. 19 If s A R~ P = 83 then find the value
of "2, (x>0)
v'x+l+v"x—l Vx+1=-yx-1 - 8\/—- % a ' BT 1 m

VX4+1- x-l

(C)5
(D) 8

Vx+14Vx-1

(x>0)




By Pradeep Sir

9 % 1[61“"‘1) _.z.zj)j
B x[ 16- 2> 1

SN Y
hx@= 11—
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MATHEMATICS
Q.21) fx= 2+—1\§,y = 2_V3 — then find the value of
8xy(x* + y*)
x ——y = m%?ﬁBxy(x +y?) BT HHE §1d
PG
(A) 112
)REL
(C) 290
(D) 196




@ MATHEMATICS By Pradeep Sir

Q.25) ¥ x* =17x + y,¥y* = x + 17y, x # y then find the value
> I

I =SSNVl of Vx2+y2+17?
y*- 4+ 7Y gfie x2 =17x+y, Y2 =x+ 17ye el x#ygal /a2 + y2 + 1
— e _:_——____’____
~© + - | 8(;(_4.\5):\ aﬂm%l J 24 &4
@F g =18 TArte— |6 %16 > [28
E_)(x_:'«’-): ILLZ"3> =) 288 —




MATHCMATICS L A i
Q. 27) If x> = 1, solve for all value of
X x2 x3 x*
1+x2+1+x4+1+x+1+x3
13
gfe x5 = l+ﬁ+l—“+l+ﬁmmmm
4 0 s+ L+ L
1oy (A) 1 1 1)
l | —
Rk
(C) 3
(D)4







m MATHCMATICS L A i

N— L,

Q. 29) If a°+b® = 217 and a + b = 7, then the value of ab

S+b” = (a+p) 3osCa+p) s
S s ) [,

;. (A) -6

217 = b3 - B%Ll) (B) -1

K17 = 3%3—2:0}7\ o
o = 41
= |6 C




MATHCMATICS By Pradeep Sir

Q. 30) What is the simplified value of %{(x + -‘-)2 =
2 = 2,5 y
arb) A+ (& -b) c d(» +b) (x-l)z}

y

(a+0) = (a-b)" = ek ﬁ”x;l - (x- 1)} @t v Fifire-

(ARG




MATHCMATICS L A i

Q. 33) If x* — 4x + 1 = 0 then find the value of x° + x7 —
194x° — 194x3 P
g 22 —ax+1 =08 a 2% + x7 — 194x5 — 19413 BT HEAH

et T I ———d

(A) 4 v/ Liay
)c.g(.r—H—“iH)-l-L (* )
01 x5/ - 3(- )
©1 = [—2—:,1)1-)( ( =
(D) -1

- (x+_|_




MATHCMATICS By Pradeep Sir

2 _ s
Q.34) f x* + x =19 then (x+5)+(x+5)—?

0ﬁx2+x=19%?ﬁ(x+5)+ﬁ?ﬂm%:

(A) 7
(B) 9

M\Jy P

(D)3




MATHECMATICS By Pradeep Sir

Q. 35) if x* + x™* = 194, x > 0, then the value of (x — 2)?

IS ©

gfE x* + x* = 194,x > 0 8 a1 (x — 2)2 BT HIH JId DIfITI
(A) 1

(B) 6

(€) 2

(D) 3




MATHCMATICS

By Pradeep Sir

7+4\f§

Q. 36) |fx=\J —

A x= [ [ R A aS + S BTAFA R
V v

(A) 2702

(B) 2786

(C) 1154

(D) None

then find the value of x° + — :

x®




MATHECMATICS By Pradeep Sir
Q. 37) If (x +3)(x— 1) = 1, then (x +3)* — — :3)3
(A)96Tfe (x +3)(x—1) =18 (x +3)% - (“‘3)3 ST HH
o
(C) 86

(D) 45




MATHECMATICS By Pradeep Sir

Q. 38) If X2 —4x + 1 = 0 then find the value of x° + x7 —

194x° — 194x3

gfe x2—4x+1=0 8 @ x° + x7 — 194x° — 194> BT °H
fPad axaw ghm 2

(A) 4

(B) -4

(O)1

(D) -1




MATHECMATICS By Pradeep Sir

Q. 40) If x* + x = 11 then find the value of (x + 3) -
125 _
(x+3)3 ?

g+ + x =11 8 (x + 3)? — ——— BT HHE FId DT

(x+3)3
(A) 1000
(B) 75
(C) 200
(D) 50




MATHCMATICS

By Pradeep Sir

Q.41 fx2+4x—4=0then (x+5)3 +

gfd 2 +ax-4=08F (x+5)% +
Do |

(A) 200
(B) 234
(C) 198
(D) 189

1
(x+5)3

|
(x+5)3

dT HIA Jld

)




MATHECMATICS By Pradeep Sir

QA42)f(x—a)(x—b)=1anda—- b+ 5 =0 then what is

|

—a)3
the value of (x — a) "

'Clﬁ(x—a)(x—b)=lah‘{a-b+5=0%?h(x—a)3—

l _HTHHEE:

(x-a)?

(A) —125
(B) 1

(C) 125
(D) 140




MATHCMATICS

By Pradeep Sir

Q.43) f x>+ x =5 then (x + 3)% +

uﬁx2+x=5%a~1(x+3)3+

(A) 130
(B) 120
(C) 110
(D) 140

1
(x+3)3

|
(x4+3)3 ?

ST HHE 2|




MATHCMATICS By Pradesp St

Q.44) If x + % = 3 then find the value of x” + xi,

gfex+:= 3l x’ + = BT A 1d S|
(A) 813
(B) 823
(C) 833
(D) 843




MATH MATICS By Pradeep Sir

Q. 46) If x + % = 3 then find the value of x7 + xl.,.

u&x-{-%: 3%@17 +x—l7$'lmmaﬂm|
(A) 813
(B) 823
(C) 833
(D) 843




MATHECMATICS By Pradeep Sir

sin 84cos @ sinf@-cos @

Q4N Iif = 4 then find the value of ’

sin 6-cos @ sinf@+cos @

tan @’

uﬁsln&rcosa + sin 8-cos 6 - 4%?"1. tan 6’ mmm

sin 8-cos 6 sin 84cos O

DIl
CYRVE]
(B) V5
(C) 2

(D) None




MATHECMATICS By Pradeep Sir
Q.48)If 2\/x = J j:i‘j__ ﬁ:? then find the value of
(x+3).
wRw2r= [E0 TR (c+ 2) wrara
DIl
(A) 7/3
ETE
(C) 10/3

(D) None




MATHE MATICS By Pradeep Sir

Q. 50) If /ﬂﬁ.x _ (95.12494%-188x95.1)(95.12+94%24+94x95.1)
. 95.13-943 then
find x+0.9 +0.9\2
ind the value of (*=22) Bl (X33) &1 A F1d Bferg
(A) 10
(B) 100
(C) 80

(D) 40




MATHECMATICS By Pradeep Sir

Q. 51) f x* +x*’y* + y* =21 and x* + xy + y* = 3, then

what is the value of 4xy ?

gfE x* + x2y% + y* = 21 MR 2% + xy + y% = 3 B, @l 4xy BT
HTH ST ?

(A) 12

(B) 4

(C) -8

(D) -4




MATHEMATICS By Pradeep Sir

Q. 53) If x* + x2y? + y* = == and x2+xy+y2=13—6, then

2(x% +y*) =2 e
gfe x‘+x2y2+y“=% 3R x2+xy+y2=%, g,
2(x* +y%) =1
ol
3
(O}

(D)=




MATHECMATICS By Pradeep Sir

Q. 54) if a— b = 5&a* + b?* = 45, then value of ab is ?
afd a—b =53 a? + b? = 45 §, A ab BT A FTEN ?
(A) 20

(B) 10

(C) 25

(D) 15




MATHCMATICS By Pradeep Sir

Q. 57) If x+ % = /3 then find the value of x%16 4 x180 4
156 4 132 | 196 | 84 , 54

ﬂ'ﬁx-}-%: V3 B at x216 4 x180 4 156 4 132 4 (96 . .84
x5 BTHME 2

(A) 5
(B) 4
()3
(D) 0




MATHCMATICS

By Pradeep Sir

18000 +11800 4+ 180

Q.58) If x + % = V3 then find the value of - 8

o x+i=vIRA T2

1800+x180

(A) 3
(B) -3
(€)1
(D) -1

18

&1 H J1d Difg |




MATHECMATICS By Pradeep Sir

Q. 59) if x +% = 2 and x is real, then the value of x'17 +
- A& x + 2 = 2 B 3R 0P aRafde w@n e @t 1117 +
&1 HMH -

(A) 1

(B)O

(C) 2
(D) -2




MATHCMATICS By Pradeep Sir

2

Q. 60) If (x + i) = 3 then the value of x?%° + x290 + x72 4
x%6 4+ x°% + x24 4+ x6 + 1:

y.
qfe (x +2) =38, W x206 + x200 4 x72 4 x56 + x5 + x2* +
x% + 1 BT HH FTd H-
(A) O
(B) 1

(C) 84
(D) None




MATHECMATICS By Pradeep Sir

Q.61)fa+b+c=9andab + bc + cal8, then the value
of a® + b® + ¢ — 3abcis:
ﬂﬁa+b+c=93h?ab+bc+ca=18%,?ha3+b3+

¢3 — 3abc BT HE JTd BT |
(A) 243

(B) 244
(C) 234
(D) 254




MATHECMATICS By Pradeep Sir

Q. 62) If ab+bc+ca=8 and a+b+c=12, then
(a* + b* + ¢?) is equal to

afe¢ ab+bc+ca=8 MM a+b+c=12 8, @ (a® + b +
c?) BT {9 J1d Diferd ?

(A) 160

(B) 144

(C) 134

(D) 128




MATHECMATICS By Pradeep Sir

Q.63)ifa+b—-c=7,ab—-bc—-ca=21,thena’® +b® -
3+3abc=..........
gfda+b-c=7ab-bc—ca=218@a®+ b3 -3+
3abc = ........... él

(A) 124

(B) 117

(C) -98

(D) 98




MATHCMATICS By Pradeep Sir

Q. 65) If a® + b* + c* =576,ab + bc + ca = 50, then a +
b+c=?

gfida? +b* +c*=576,ab+bc+ca=50, Ta+b+c=?
(A) +24

(B) +26

(C) -24

(D) -26




